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Name________Answers_________________________

Practice Quiz  Sep. 11, 2014




(please also write your name on the back)

1.
(10 pts) Is ethanol added to gasoline in Tucson during the  WINTER  or  SUMMER  months?  Is the  resulting “oxygenated fuel” used to reduce automobile emissions of


OZONE (O3)  or [image: image1.png]Sun



 CARBON MONOXIDE(CO)?  (circle one choice)
2. 
(5 pts) Photosynthesis is the source 

of most of the 
___oxygen___________ in air.

3.
(5 pts) When you turn away from the sun and look at the sky 

(see figure at right) do you see  SCATTERED  light,  
UNSCATTERED  light, or  NO  light at all?  (circle one choice)
4.
(10 pts) Photochemical smog can form when which two of the following react?


a. water vapor (H2O)

b. hydrocarbons
c. oxygen (O2)


d. sulfur dioxide (SO2)

e. ozone (O3)

f. carbon dioxide (CO2)

5.
(5 pts) Is photochemical smog another name for  LOS ANGELES   or   LONDON   type smog?

6.
(5 pts) The air is cleanest when the AQI (Air Quality Index) value is  HIGH  LOW.

7.
(5 pts) A high dew point temperature means the air is _______.


a. dry


b. clean


c. cold


d. hot


e. moist


f. polluted

g. stable

h. unstable
8.
(5 pts) _______is(are) the most effective way of removing particulates from the air.


a. Clouds
b. Photosynthesis
c. Ultraviolet light
d. Oceans

9.
(10 pts) Atmospheric pressure at sea level here on the earth is determined by which two of the following?


a. amount (mass) of air in the atmosphere

b. thickness of the atmosphere


c. composition of the atmosphere


d. the strength of the earth's gravity
10.
(10 pts) During complete combustion fuels react with oxygen to form ___c____.  During incomplete combustion ___a___ is produced. (answer order is important, you must fill in the blanks)

a. carbon monoxide
b. ozone
c. carbon dioxide
d. hydrogen

11.
(10 pts) The term smog was

originally used to refer to a mixture of ____smoke_________ and _______fog________.

12.
(5 pts) Why might small particles suspended in the air be a greater health hazard than larger particles?

Small particles travel deeper into your lungs, the smallest particles pass through the lungs and into the bloodstream.
13.
(10 pts) ___c___ below is the most abundant gas in the earth’s atmosphere and ___b___ has the lowest concentration in air. (again you must fill in the blanks, not just circle the answers below)

a. argon

b. carbon dioxide
c. nitrogen
d. oxygen
e. water vapor








Name_________________________________________

14.
(5 pts) Which of the following is true of a surface radiation inversion layer?


a. temperature increases with increasing altitude

b. stable air layer


c. air pollutants are trapped in the inversion layer

d. forms on a cold winter morning


e. all of the above




f. none of the above

15.
(10 pts) __SO2__ is found in London-type smog.  __SO2__ can react with the water in clouds to form 
acid rain. [fill in each blank with CO(carbon monoxide), O3(ozone), or SO2(sulfur dioxide)]

16.
(5 pts) Because it is a secondary pollutant, peak concentrations of _______ are normally observed in the afternoon. (ozone should only have appeared once in the list of answers, this was a typo)

a. carbon monoxide
b. ozone
c. radon

d. ozone

17.
(10 pts) Two objects that have the same mass but different volumes would have the  SAME  DIFFERENT  weights and the  SAME  DIFFERENT  densities.  (circle one word in each pair)
18.
(10 pts) Hydrogen and helium were(are) the most abundant gases in the earth’s  ORIGINAL  PRESENT  atmosphere.  Volcanoes were(are) the source of most of the gases in the earth's  ORIGINAL  PRESENT  atmosphere.  (circle one word in each pair)
19.
(5 pts)  What is missing from the 

photodissociation reaction shown at right?

O2 +  __ultraviolet light____ ( O + O

20.
(5 pts) Average sea level pressure is about 1000 _______.


a. inches of mercury
b. millibars
c. pounds per square inch
d. kilograms

21.
(5 pts) The atmospheric concentration of _____ can range from near 0%  up to 3 or 4%.


a. nitrogen
b. oxygen
c. water vapor

d. argon
e. carbon dioxide

22.
(5 pts) Rain naturally contains some dissolved carbon dioxide and has a pH of perhaps 5.6.  Would this 
natural 
rain be  ACIDIC,   BASIC   or   NEUTRAL?
23.
(5 pts) An increase in the concentration of _______ could change the color of the sky from a deep blue to a bluish white color.


a. ozone
b. carbon monoxide
c. particulates
d. sulfur dioxide
e. water vapor

Extra Credit (you can earn up to 10 pts)
1.
(5 pts) When ice melts, it changes from solid to liquid water.  Dry ice sublimates which means it changes directly from a solid to a gas.  What gas does dry ice turn into?  carbon dioxide (CO2)
2.
(6 pts)  Chlorofluorocarbons (CFCs)  are not poisonous.  Why are CFCs in the air of concern?

The chlorine in CFCs can react with and destroy stratospheric ozone.  
3.
(5 pts) If the atmospheric concentration of carbon dioxide continues to increase and more CO2 gas dissolves in the world’s oceans, would you expect the ocean water to become more  ACIDIC  or more  BASIC?
